AHO -1106 CV-19
B.A/B.Sc. (Part-I)

(Ex./Suppl.)
Term End Examination, 2019-20
MATHEMATICS
Paper -1
Time:- Three Hours | [Maximum Marks:50
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Note: Answer any two parts from each question. All Questions carry equal marks.

g§B18—1 Unit-I
1. (a). URMWe \fbar A @ g1 7999 amegg &1 @agpw sa IR |

With the help of elementary operations find the inverse of the matrix:
1 2 -2
A= |-1 3 0
1 -2 1
(b). ITGE AP THATY ©U ¥ yRafid , 3R 3MTFg & i s
PIAY S8l —
Reduce the matrix A into its normal forms and find the rank of the matrix.
Where.
0 1 -3 -1
A= |1 0 1
3 1 0
1
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State and prove Cayley - Hamilton Theorem

FBE—2 Unit-I1

2. (@ 9@ PN féd Ay @& 53 w9 @ fow afieRel x+y+z=
6,x+2y+3z=10,x+2y+rz=p & (i) D & &I (ii) TP
afgdra & (iii) 37T &1 BT |
investigate for what values of X , Y the evections x+y+z=
6,x +2y + 3z = 10,x + 2y + Az = p Rave (i) No solution (ii) A
unique solution (iii) An infinity of solution.

(b) TUEY fH TNHOT 22 +5x2+3x -9 =0 UH W A IgaAd 9o

2139 o @l & o PR
Show that the roots of the equation x> + 5x% + 3x —9 = 0 is of
multiplicity determine them.

(c) FHIBROT x3 — 15x — 126 = 0 B! HIed (A & BIVIT |
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Solve the equation x3 — 15x — 126 = 0 by cordons method.

gB18—3 Unit-I11

Ife Feaa A9 R & Joaar ey 2, O Rig PR 5 R ey
A¥ TP ToucT HeeT B |
If R is an equivalence relation in the set A, then Prove that R! is an
equivalence relation in the set A.
g ST fob amreget

A= |ing " cosal
BT FeHd, WEl R X Ue qIAd 6@ | INGE [ B IAiid
e g Affa oxm 2

Prove that the set of matrix 4, = [Cgsa B Sma] Where X is a Real
. sina cosa

number forms a group under matrix multiplication.
a9 H3R K U 998 G & IR Suawg © a9 Rig -

Let H and K be finite subgroups of group G then prove that
O(HK)= o(H) o(K)
o(HNK)

ghIg—4 Unit-IV

Rig BN o T & wyema § gogemar a1 ey e gead
e BT & |

Prove that the relation of isomorphism in the set of all groups is an
equivalence relation.

qordl & FAEBINGT $T Terd T3g B folkay vd Rig SR |
State and prove fundamental theorem on homomorphism of rings.

g PIRNT T@® IRMAT Qe u ve & BT 2 |

Prove that every finite integral domain is field.

§PIE—5 Unit-V
T— AR UHT & YN | & BITT : X7+ 1=0

Solve X”+ 1 = 0 by using De-movers' theorem.
I tan (X+iY) = coso + sina g BT -
(1) x=§nn+% T, (ii)y=§ logtan(—}+%)
Of tan (X+iY) = cosa + sina prove that.

@) x=nw+m,(i)y == logtan(C +3)
srofy @1 AT BT

Sum of the series :

. 1, 1,
sina +;sm2a + -2-55171361 F o 00



